





we have

$$\left\{ \begin{array}{l} \beta_0^2 = \alpha_0^2 + \mu \\ \beta_0\beta_1 = \alpha_0\alpha_1 - \mu \\ 2\beta_0\beta_2 + \beta_1^2 = 2\alpha_0\alpha_2 + \alpha_1^2 + \mu \\ 2\beta_0\beta_3 + 2\beta_1\beta_2 = 2\alpha_0\alpha_3 + 2\alpha_1\alpha_2 \\ \dots \\ \sum_{\substack{i+j=n \geq 3 \\ i,j=0,1,2,\dots}} \beta_i\beta_j = \sum_{i+j=n \geq 3} \alpha_i\alpha_j, \end{array} \right.$$

and hence

$$B_1 = 2(\beta_0 + i\lambda)(\beta_0 + \beta_1) = 2\alpha_0 \left( 1 + \frac{i\lambda'}{\sqrt{\alpha_0^2 + \mu}} \right) (\alpha_0 + \alpha_1),$$

where the absolute value of  $2(\alpha_0 + i\lambda)(\alpha_0 + \alpha_1)$  is not less than 4, and  $\alpha_0$  has a positive real part.

The minimum absolute value of  $\alpha_0 + i\lambda$  is reached by the positive real part of  $\alpha_0$ , and when  $\lambda'$  varies on the real axis, the minimum absolute value of  $1 + \frac{i\lambda'}{\sqrt{\alpha_0^2 + \mu}}$  is not less than absolute value of  $1 + \frac{i\lambda}{\alpha_0}$ . Accordingly, the absolute value of  $\alpha_0 \left( 1 + \frac{i\lambda'}{\sqrt{\alpha_0^2 + \mu}} \right)$  is greater than the real part of  $\alpha_0$  when  $\mu > 0$ , and then, the absolute value of the coefficient  $B_1$  is greater than 4. It is easily verified that the real part of  $\beta_0$  is positive from  $\beta_0 = \sqrt{\alpha_0^2 + \mu}$ . Thus, the theorem has been established.

Next, we consider an asymptotic relation of a coefficient  $A_n^{(k)}$  when  $n$  approaches to infinity.

From the relation  $\varphi_k(1) = 2$  for every positive integer  $k$ , the following equation

$$(5) \quad \lim_{n \rightarrow \infty} (A_n^{(k)} - A_{n-1}^{(k)}) = [\varphi_k(1)]^2 = 4$$

follows at once from (4). For an arbitrary small positive number  $\varepsilon$  and a sufficiently large fixed integer  $n_0$ , we can verify

$$|A_n^{(k)} - A_{n_0}^{(k)} - 4(n - n_0)| < (n - n_0)\varepsilon$$

from (4), and hence we have

$$\lim_{n \rightarrow \infty} \frac{A_n^{(k)}}{n} = 4.$$

Now the following theorem follows at once.

**Theorem 2.** *For any positive integer  $k \neq 0$ , we have a following asymptotic relation*

$$\lim_{n \rightarrow \infty} \frac{A_n^{(k)}}{nA_1^{(k)}} = \kappa; \quad |\kappa| < 1.$$

Remark. This theorem means that, for  $n$  sufficiently large, we have

$$\left\{ \begin{array}{l} \left| \frac{A_n^{(k)}}{A_1^{(k)}} \right| < n; \quad k \neq 0 \\ \frac{A_n^{(0)}}{A_1^{(0)}} = n. \end{array} \right.$$